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A
X ZH -
=1

el

SN B O(3H) - NEAY - BYS ofl A2 &]Eg HZ=2

= 242,550

FTAOIZ2 X & AL 4,520 5,600 A 1,080
Dl 4,520

201 B2 H| 2,120 1,440 680
Dl 2,120

01 AF22t2l bl 2,120 1,440 680
OJI2EXAMNY 2,120
—FTAD|I2 Az DEE AMLDSUS WM 10,000& 1005 1,000
Dl 1,000
— =L AMEOg £ S 70,000 x8H x23] 1,120
Dl 1,120

301 YEt8 A3 2,400 1,400 1,000
Dl 2,400

10 HALAHI 2 A2 2,400 1,400 1,000
OJI2BXZAY 2,400
—FTA sotuns ¥ HX0ord 30,000& x40H 23] 2,400
Dl 2,400

FTARt =& CH & 577,500 457,500 120,000
J| 231,000
== 103,950
= 242,550

402 912X = 0| & 577,500 457,500 120,000
Dl 231,000
= 103,950
= 242,550

01 2ItXIEE X 577,500 457,500 120,000
OJI2EXEAMY 577,500




Sk
X ZH -
=1

el

% = & E
SA B SA(BH) - MEAY - BES e HIRE2
—FTA IS UHSALY 1,155,000, 000 *50% 577,500
J| 231,000
= 103,950
i 242,550
A 449,059 291,472 157,587
= 90,836
& 8,275
= 349,948
S Y M A 121,700 29,200 92,500
2 B2 A 400 400 0
1 AR 22l ] 400 400 0
O=+=It s F+4 2,000& x100H #23| 400
206 M =4l 6,000 6,000 0
=44]] 6,000 6,000 0
= I UYESF oz Eg 2 200,000& *30MI E 6,000
gtE a3 2,800 2,800 0
HAAHIEA S 2,800 2,800 0
O+t Midl=sns 7,000 *80H *53| 2,800
It 201 & 112,500 20,000 92,500
QIR EEX 112,500 20,000 92,500
OMAS HAXH 25,000, 000& * tha*50% 12,500
O=gas XY 20,000, 0002 *5ha*50% 50,000
og3g T8AMY 2,000,000 *107H 2= *50% 10,000
OZAUBESE ESAE 10,000& *2,000== *50% 10,000
Olt=Z g nMa & BAFAY 400, 000& *150ha*50% 30,000
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FA: SN0
HE: DAUASH(SEHSLM/ 5D -
Chel: DS E L M (che:m e
SH BB SAEA) - HBAY - BAS Ol &4 o8 e HlmE2
D= M AX A 125,000 88,080 36,920
402 QIZ2tX20| ™ 125,000 88,080 36,920
01 QI E2E X 125,000 88,080 36,920
Out===S3 TN X &AAS 400, 000& *250ha*50% 50,000
O MEE |FXH XA 500, 000& *200ha*50% 50,000
O=s0t N2M&1 6,000, 000& *5CH x50% 15,000
Otz 24 1,000,000& *20ha*50% 10,000
=D l=23 181,672 121,672 60,000
= 90,836
i 90,836
201 L Et29H| 3,472 1,700 1,772
= 1,736
= 1,736
01 At 2teltl 3,472 1,700 1,772
O=HIEZ AL 3,472
—E§E2E Z=¢ 3,472,000 3,472
= 1,736
= 1,736
206 M = bl 1,000 0 1,000
= 500
= 500
01 M= 4l 1,000 0 1,000
O=HIEZ AL 1,000
—EE2E 88 Mz # 50,0003 104+ Xt *23] 1,000
=2 500
= 500
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SN ESXED
o ANSSNSSL (SN +M/5 - 5E)
Cel: SERSDEI M (e ®e)
= = & E
S BB SA(BH) - MEANY - BES 0f & o8 e HIDS2
307 ©I2H0| & 32,876 0 32,876
= 16,438
> 16,438
02 QAP AR T 32,876 0 32,876
OZHI2E A 32,876
~EEZSM2 ASEA N2 32,876,0002 32,876
= 16,438
= 16,438
402 QI2HT 20| 129,340 13,290 116,080
= 52,060
2 77,280
01 QAL 129,340 13,290 116,050
OZHI2 A 129,340
—22Y MA XAY 360,000 *10ha*80% 2,880
& 1,080
> 1,800
—HEU NAAY 36,0002 *2204¢ Xt x50% 3,960
= 1,980
o 1,980
— QUK MATT E4 35,000, 000 *7ha*50% 122,500
= 49,000
2 73,500
NYAD AL EL 184,687 0 184,687
101 @1 248l 41,213 0 41,213
04JIAH22RNS2+ 41,213 0 41,213
omel oy 41,213
-y 38,8802 *2% x302 2,333
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SN RSN
Ha: ANSESRSSL(SFHSL4/5 - 55)
ool SEXNSIEIMA (69 &2

SH BB SAEA) - HBAY - BAS Ol &4 o8 e HlmE2
- 38,880& x 108 x100 38,880
201 L Er2F I 70,924 0 70,924
01 At 2tel bl 70,924 0 70,924
OEX L Xt 8203 +58,200m 47,724
OJletx s =42y A (Z 2, SlHax 5) 100& *58,000m" x4 3] 23,200
206 X 2 62,550 0 62,550
01 M= 4l 62,550 0 62,550
OLHHl X 500& x58,200m 29,100
Ox, == X 100& *38,000m 3,800
Sl 3,300 x3,200 L 23| 21,120
Otls 25,000 x5 »23| 4,750
©%:1k=! 60,000 *63= 3,780
401 AlEBIZ 2 0H 8] 10,000 0 10,000
01 Al & HI 10,000 0 10,000
OgtHY Z=4(160m) 10,000, 000 * 14 10,000
ARSI =2= 636, 760 729,200 A 92,440
= 160,000
& 27,000
= 449,760
H2MAI=XE 118,160 94,000 24,160
201 L Et2 | 5,300 3,400 1,900
01 At 2teltl 5,300 3,400 1,900
ORUEZI=ns 2AxE 200,000& +83| 1,600
ORUEEI)N=zns WMHHA 5,000& x 1002 *3& 1,500
OCRUHLDSEYL S8XAS XX 600,000& 23] 1,200
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A HEXNH D

BN ANSEBRSIH(STHYLM/5Y - 58)
¢ 2UESIIsES (che:m e
= ~ XN L=
SH-EH.C(BH) - HRAY - BAS Ol &k 0 e HID S 2t

ORI A AISEAIY EEHME 100, 000 *10JH A& 1,000

206 M = bl 13,320 12,600 720

01 M= 4l 13,320 12,600 720
O Mok Al Mz 2 12,600
— 40l 2,000 *1,500kg 3,000
—EsZD 240,000& =40CH 9,600
Osids"g AMENHz 2 720,000& *1ha 720

301 LEE A= 5,140 5,600 A 460

10 HALAHIEAZ 5,140 5,600 A 460
OLNEE SoIMitns &K 2 7,000 x 1009 *23| 1,400
Ogntda 82ns HF4AL =S| 7,000 x100Z »23| 1,400
OLIEE Ma)|lzsns 8T S 7,000 #60H *23| 840
OSSR 0HAE sAUUELE nsaH 50,000& x10H +33| 1,500

402 QI2EX 201 M 94,400 72,400 22,000

01 22X E2E X 94,400 72,400 22,000
OLl ZHod =34 XA 80,000& *960E *50% 38,400
OZI 28230 NI AMH 400,000 *80CH *50% 16,000
OA4dtA SF3IA XA 20,000
— gD 6,000,000 *4CH x50% 12,000
- AssEI(408) 160,000 *100CH *50% 8,000
Om=eldr FgHl 22 Alg(UgEd 2R) 6003 *46,666 & *50% 14,000
Qe A THHHEHRI MAtA S XA 800,000 *15ha*50% 6,000

IR QML 102,600 43,200 59,400

402 QI2EXH2 01 M 102,600 43,200 59,400
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A HEXNH D

BN ANSEBRSIH(STHYLM/5Y - 58)
g U= olsES (St m )
SA BB SH(BAH) - MRAY - B of & o e HIDZ 2
o1 eIdt=E X 102,600 43,200 59,400
OSERdM J4& X3 100,000& »240& *50% 12,000
o2&l Eotalt XN & 1,200& %36, 0004 *50% 21,600
Oy AZZE K& 1,600& *12,000% *50% 9,600
ORYRYL SSTSIAME N 44,0003 =2, 700m*50% 59,400
U SSESEANH 24,000 24,000 0
402 GI2tXt= 01 & 24,000 24,000 0
01 QITt=2EX 24,000 24,000 0
Ossl 2&s2 A2 10,000& *4,800m* *x50% 24,000
NesdSdaisXlg 320,000 462,000 A 142,000
& 160,000
= 160,000
402 212+ K= 0] & 320,000 462,000 A 142,000
= 160,000
= 160,000
01 2 Xt=E X 320,000 462,000 A 142,000
OZS3AAY 320,000
—Ne=sgsd3s 320,000
DFEPS HaHI =4 320,000,000 *19H 2 320,000
= 160,000
o 160,000
ANEZWI =22 72,000 16,000 56,000
& 27,000
= 45,000
402 G2t =01 & 72,000 16,000 56,000
ES 27,000
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2AM:
X XH -
L= B

el

2 X2 ot

ANSSHSSH(STHLSM/5Y - 55)
AMTSINEES

SA B SA(BH) - MEAY - BES

=z
12

afE
0l &t

M

45,000

—AMER0 NHSOHH M AlY

—AE30 SFHE A

-Hol =

—dU&=E Dd=s8 AR HHAE

10,000, 000 & *2IH 4~ x80%

10,000,000 *1JH 2 x80%

10,000,000 *1JH 2 x80%

5,000,000 «2JH 2~ «80%

5,000,000 * 19 2 +80%

10,000,000 *1JH 2 x80%

20,000,000 *17H 2= x80%

5,000,000 *1JH 2~ x80%

M H

M H

A H M H M H

H

72,000
72,000
16,000
6,000
10,000
8,000
3,000
5,000
8,000
3,000
5,000
12,000

8,000
3,000
5,000
4,000
1,500
2,500
8,000
3,000
5,000
16,000
6,000
10,000
4,000
1,500
2,500

16,000

56,000

1,671,785

1,120,913

450,872
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Sk
X ZH -
=1

el

- SHA(SAH) - NRAY - BHES Off &+ o4 %“EEH Hus
& 217,235
= 1,354,550
FX2 A 40,300 735,920 695,620
2rttEold 40,300 735,920 695,620
QI2tiEsE X 40,300 735,920 A 695,620
Ogt==D| 4,000,000 = 10CH *50% 20,000
Osg=&l 5,800,000 7CH*50% 20,300
OIS HAMALX R 884,050 20,000 864,050
gIttEol A 884,050 20,000 864,050
It =X 884,050 20,000 864,050
OZJl D&THEH X 30,000& =13,200m* *50% 198,000
OUWMaHE d 440,050
— Yutot2 26,000& %33, 850 m" x50% 440,050
OHIotg AlE X 168,000
—BIOtEst A 14,000& 20,000 m *50% 140,000
— 23 8,000, 000& 73 *50% 28,000
O=ZEWIZe|ot LAHTHE AIEE= 78,000
— DI 2,000& =54, 0002 *50% 54,000
-7= 300& *140, 0004 *50% 21,000
— s 8,000& =750 H *50% 3,000
TH A OF H 2 A 367,325 56,000 311,325
ES 177,235
= 190,090
402 QIZ2tX=20l A 367,325 56,000 311,325
ES 177,235
= 190,090




2AM:
X XH -
L= B

el

fEle=
Ol &t o

-

|
>
=

|
-

I
g

Je23J XX

SotRA AIEMHAH K&

S
10
0%
H0
op
to
A
H
i

0z
bl
12
02
o
ng
S
Ho
0x

120,000,000&

16,500,000 & »3CH x40%

36,000,000

8,000,000

39,525,000&

144,000,000

M H H Mk M H

M

367,325
367,325
120,000
60,000
60,000
19,800
7,425
12,375
36,000
18,000
18,000
8,000
4,000
4,000
39,525
15,810
23,715
144,000
72,000
72,000

56,000

H

100,000

40,000
60,000

37,500

62,500

M H

100,000

40,000
60,000

37,500

62,500

01 &l

200,000, 000& *50%

100,000
100,000
100,000

37,500

62,500
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SA R

x O
Za: o

o
ol DEE 0 E S ML

SH BB SAEA) - HBAY - BAS Ol &4 o8 e HlmE2
= 40,000
= 60,000
AEAZCTHAS 180,110 113,986 66,124
101 I244] 33,005 39,006 26,001
04 JI2HHZ22 RS E> 33,005 39,006 26,001
OMBREX =4 Y 2ol 0129 33,005
— g 13,565
2= 48,8803 x 1200 9,776
=3 28 48,8802 * 12 402 1,956
BEHS (LS MM, H02,43) 12,220,000& *15% 1,833
— o 19,440
ez 38,880 x10H 50! 19,440
201 L Er2 3| 38,080 42,080 A 4,000
01 At 22l 38,080 42,080 A 4,000
OagHZEHI EXNYX 820& *44,000m 36,080
O SEE HZZHMH 20, 000& 1004 2,000
206 M Z I 33,000 12,000 21,000
01 M =4l 33,000 12,000 21,000
Oosgs ¢ 7Y 7,000& *3,000& 21,000
OoMgdZHI =4 MELl(BlE, =%, sAtHH) 2,000,000 x63 12,000
401 AIEBIZ 2018l 76,025 12,000 64,025
01 Al & HI 76,025 12,000 64,025
OooZz2g 3 X 400,000& =180 M’ 72,000
OdZ2g 3 AAZAH 72,000,000& *5.59% 4,025
SHUASE (MY - SAIG/RALETNRA) 52,596 57,833 A5,237
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2N &=
T ZH -
o /ot

el

=N
soin
SENT

0x 0
~
it
O
b
9
19
10
12
e
Rl
P
10
>

o mor &

SH BB SAEA) - HBAY - BAS Ol &4 o8 e HlmE2
Ax=AASH 52,596 57,833 A5,237
AEMEH OIS 2A2H 52,596 57,833 A5,237
101 r24H] 22,356 22,973 AB17
04 J|12ZtH 22 S8+ 22,356 22,973 AB17
Otz st zte| 22,356
—Jl== 38,880& »2H »200 15,552
— =54 38,8803 x2F «50 3,888
— AR = 19,440,000 *15% 2,916
201 Y2 Y| 25,240 28,860 ~3,620
01 At 2teltl 11,240 9,220 2,020
O%=x szt A28 22 5,000
—&dAIE 2% 2Y 5,000& x4E %1002 2,000
— &AL ST P 20,0003 «100& 2,000
—JIEIA28 FU(SEXN S) 10, 000& 53 204 1,000
O&=J 2= 50,0003 128 600
Of0oldH 4| 350,000& 128 4,200
Osdll 82 =82 120,000& x128 1,440
02 =324l 14,000 19,640 A5,640
O&sR= 50,0003 128 600
OFSPIEcA=) 1,100,000& =12 13,200
OJIet 2223 (22EsIHl S) 50,000& *43| 200
401 Al & HI 2 2 0H 8] 5,000 5,000 0
01 Al & HI 5,000 5,000 0
O<x st sXl&2 500,000,000& *1/100 5,000
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SN ST D
HM: HNSHBH(HEXA)(IIEH/IIE
Ehelr D122l (2 &@
SH BB SAEA) - HBAY - BAS Ol &4 o8 e HlmE2
HY 2 ZH (RS AD)(IIEH/IIE 110,652 108,457 2,195
JlEZ 110,652 108,457 2,195
JlEZ 110,652 108,457 2,195
201 L Et2 9| 66,312 64,117 2,195
01 At 2teltl 47,668 47,473 195
ORNEN 1,831,000& ~18H 32,958
Ograagd+-g (SN, s ) 30,0003 *1H 102 +50,000& 1. 3P x 116 7,840
O= &l 3,150
— S20A| 7,000 x18Y 25 3,150
ogxz 1,800
— DEE A 150,000& = 1CH+12& 1,800
OS ol AIAE 160,000& x12& 1,920
02 8523l 18,644 16,644 2,000
OEMSXE S 2,000,000 *1JH A 2,000
OxzEEEE 640, 0003 *3CH 1,920
OIMERE S 120
— Xt 20,0003 »3CH 23| 120
OXt= XAl 604
—-58 504,000 = 1CH 504
-5 59,000 = 1CH 59
- 3= 41,0002 = 1CH 41
OXteR X 22l 14,000
— &8 5,000
S&(Z =, 25,000km0l &) 5,000,000& »1CH 5,000
i 5,000
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FA: SN0
FH: HAERIGZH(HE X)) (IIEHIIE)
Ehelr D122l
= = & E
SA - EB - HA(BH) - NRAY - HES 0f & o8 e
- ZE(Z%, 259012, 20,000km0l &) 5,000,000 = 1CH 5,000
— 32 4,000
A28 (ES, 1£0l0k, 25,000km0 &) 4,000,000 = 1CH 4,000
202 O Hl 39,420 39,420
01 =W HI 39,420 39,420
oz Lol 120,000& x18F 123 25,920
O&2 ol 75,0003 x18F 10 13,500
203 =&l 4,920 4,920
02 HJtatE 2 =&Yl 720 720
OFRItatg 2= 40,000 *18H 720
04 EN2IHRFLAH 4,200 4,200
ORN2EI2FEHI 350,000& 128 4,200
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